DORMA AS701 DIN-MECHA AX|EHA|_RVE.02

2019.07.02

p * OFH OAN TSCHISEETAHA, LI AE! RRCRGHTE, BIENLZ!

EZX| 80g / 1847260mm / 1= SH UM gy anzmns i simmiins, srmsam
RSCNSRSAHA » DIESCE | RINCRGETS » BN |
BB 5K > BREHAE - FARBEH |

Screw List &fh—& Zr—i
For Metal Doors P9 #[']
@ o (FHM5X10)8EA

Door Thickness

Installation Manual

ZEAEF| LiE5

For Wooden Doors ~ 7RF 7K[7] Installation Manuail ﬁg?agl LaxiEs |

Q@ % (STFH4X30)8EA

Door Thickness

Door Thickness 90~100mm FH[E [1][Z 90-100mm

1. To Install Mortise 2. To Install Mortise Shaft 3. To Install Mortise Shaft

50-60mm 7] (BH M5 X 35) 4EA

50-60mm 7] (BH M5 X 35) 4EA

FREHEE LRk

RRHRRE R

Fixing Pin Z4 88547

90~100mm 90~100mm
e M é:‘—'t;rptring'\otle,\T.ing the mounting e M é:ﬁzrptr\gj(\)t‘e’img the mounting \\ ﬁ%%ﬁlﬁgﬁgﬂ'
70~80mm (BH M5 X 50) 4EA 70~80mm (BH M5 X 50) 4EA ™~ — _—
@ o) (SEMPHM4X12)6EA @ &) (SEMPHM4X12) 6EA Outdoor / Lo a
E% @® g (SDFHA4X20)4EA @® o9  (SDFH4X20)4EA ok q.. Outdoor o Ovtdoor
Outdoor ficat » < Te @ @
U Please note the screw specifications can be different 0 oo s Indoor \ g
depending on door material and thickness. % N 0 \a J Q ai
I B4 B Bl T [E R =] ~ 4 X % 2 %
Door Thickness 90~100mm {I’;ﬁ“‘%ﬁ_fiﬁ%ﬁ%ﬁ&%gﬁﬁxﬁ \ ] Sh% j b \
SEBBURT 2R N R EE R AE = 7 g R N
F3Z [M]/Z 90-100mm @ : @
=
Indoor ZR g .
— 1 7o
S I

‘ 50~60mm: Mortise shaft 89mm

70-100mm: Mortise shaft 160mm ‘

Outdoor Body

E5NEE =0

e
. '? o

I Striker
ER
Dust Box

BrEER B L& 90-100mm

PTMP43410NTA REV.02 ‘

Faceplate

EA

S c) ’ﬁ

-~

(B}

»
~7J'1 Indoor Plate

ERHER

Indoor Body

BB

4., To Install Outdoor Body
RETHHE REZTHIE

=

Outdoor

=

Outdoor Body

The cable from outdoor unit needs to
get through the hole on the mortise.

REFHNE REENU
6. To Install Indoor Body
RRBNE REEHUM

Door

Mortise o~

k\_/

Faceplate

REELRT
@ Please check the screw size.

100mm

90

80 70

= NHUER

60 50 40 30 20 10

Please be careful not to
make wire jamming problem.

FB/IVOIE I R B B R AR
BNV I RS FR AR 2k

ef//’ ///,,
(Cl
Post - Installation Checklist

1. Please check the auto lock function.

2. Check password, RFID card and fingerprint registration & authentication.

3. Check inside force lock, if it is working properly.
4. Check emergency battery (9V) outlet.
5. Read carefully the user manual.

Check the type and thickness of the door for the installation.

<
. 1. B
@ e % Indoor plate
Y

5. To Connect Cables
EER EEL

e o) Bor7r70 o

7. To Install Striker
RHPIERT EE R K PIAE F (FES 4P (L)
ZEEVER LB PIHE R (BT L)

Please install the strikers and dust box
in the right direction, otherwise auto lock
. \function will not work properly.

Sl

o

SERREEIRERE

1) ERE A BRI

2) HREEEE I LI R
3) WRENBHAEFMED A
4) EREIVERE RTIR A
5) FEUmAIE P

4o

ERERFEREFR
T E A
HOBERE - BRIESEERER
B ENBHEFHREALE
TV IE EE AR B
HARE FIF

ez

@ If any extra panel has to be added, please make sure the door thickness states the original thickness plus the added thickness.
AFTER INSTALLATION INSERT BATTERIES WHILE DOOR IS OPEN.

AL EBEFERMMAHEERTERME - WMEP - FEEEHRERENEY
ZEREBEITRPIRE TIRAE?

EREANTERITHRHMEERR KRS MMET]  FEEENSAEEHNESH
RERRIBEITATRETHRAR

CAUTION




